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QUESTION 1

An administrator is adding new equipment to the ACP 4200 in the Avaya Orchestrator Configuration Wizard.
How do the IP Address and Protocols fields get populated?

A. These are optional fields that do not need to be populated.

B. These are automatically detected by clicking on the Detect Hardware button.

C. These are manually entered by the administrator.

D. These are imported from the ACP Configurator Tool Excel spreadsheet.

Correct Answer: B

Reference: https://downloads.avaya.com/css/P8/documents/101061680

QUESTION 2

When a Layer 2-only networking topology is deployed, what is the behavior of the ACP 4200?
A. It will support only a single management VLAN.

B. It will extend VLANSs out to the Data Center routers which will provide Layer 3 routing.

C. It will support only a single application VLAN.

D. It will have 802.1Q tagging enabled on all ports of the VSP switches.

Correct Answer: B

QUESTION 3

Which two circumstances would require the Avaya Orchestrator ACP Configuration Wizard to be run in the field?
(Choose two.)

A. When a new G450 Gateway is added to the ACP.

B. When a new configuration file for the ACP\\'s VSP Switches is deployed.
C. When a new Virtual Machine is added to the ACP.

D. When a new ESXi Host is added to the ACP.

Correct Answer: BD

Reference: https://downloads.avaya.com/css/P8/documents/101061680
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What is a benefit of using Virtual Router Redundancy Protocol (VRRP) on the VSP switches in the ACP 42007

A. It creates virtual Layer 2 connections for the VMs.

B. It allows you to connect to the switches for management access.

C. It ensures the end systems do not need to change their gateway IP address in the event of a fail-over.

D. It allows the end systems to automatically change their gateway IP address in the event of a fall-over.

Correct Answer: D

Reference: https://www.alliedtelesis.com/en/documents/vrrp-feature-overview-and-configuration-guide

QUESTION 5

Refer to the exhibit.

Build Code Assembled Units From Connects To Switch
Device toUnit RMU/Fort
RMU/Por
= [~

1452| 2D E3ISIGIGS | Gateway - 1 ES VSP4K1| P1 1-P1 |G4501-E5 10 |Gray
1454| 2D E3/S/IGIGS | V5P 4800-2 P3 VSP4K1| P3 1-P3 |4k2-P3 10 | Gray
1455]20 E3ISIGIGS VSP 4800 -2 P4 VSP4K1| P4 1-P4 | 4k2-P4 10
1456(20 E3/SIGIGS | vSP 4800-2 |P5 VSP4K1| P5 1-P5 |42 —P5 10
1457|2D E3ISIGIGS | vsP 4800-2 | P6 VSP4K1| P6 1-P6 |4k2-P6 10

1458| 20 E3/S/GIGS | vSP 4800-2 |P7 VSP4K1| PT 1-P7_|4k2-P7 10
1459|20 E3ISIGIGS VEP 4800 -2 Pa VSP4K1| P8 1-P8 |4k2-P8 10
1460|120 E3ISIGIGS | vaP 4800-2 |P6 VSP4K1| P9 1-P9 | 4k2 - P9 10
146120 E3/SICIGS | VEP4800-2 |[P10 VSP4K1| P10 1-P10| 4k2-P10 10
1462|20 E3ISIGIGS | Server ACR-1 | N2 VSP4K1| P18 1-P18| SYRO1 - N2 15
1463|20 E3IS/IGIGS | Server ACR—2 | N2 VSP4K1| P19 1-P19| SVR02 - N2 15
1469|20 E3/SIGIGS | Sever ACR—1 | NO VSP4K1| P26 1-P26| SYRO1—NO 15
1470]20 E3/S/IGIGS Sever ACR-2 | NO VSP4K1| P27 1-P27| SVR02 - NO 15
1476|20 E3ISIGIGS | Sever ACR—1 | IMM VSP4K1| P35 1-P35] SVR0O1 - IMM 15
1482|2D E3/SIGIGS | ENC Storage | SPALAN|VSP4K1| P43 1—P43| VNX-SPALAN| 15
1485|2D E3[S/G/IGS | EMC Storage | SPAPO | VSP4K1| P50 1-P50| VNX-SPAPO |5M |Agua
148620 E3ISIGIGS | Gateway — 1 EG VSP4K2| P1 2-P1 | G4501-E6 10 |Gray
1488|120 E3/SIGIGS | vsP 4800-1 | P3 VSP4K2| P3 2-pP3 | 4k1-P3 10 | Gray
1489|2D E3ISIGIGS | VSP4800-1 | P4 VSP4K2| P4 2-pP4 | 4k1-P4 10 |Gray
4 P ...|5witch Wiring | Power Cord Wiring | Serial Numbers| Software Versions| Licenses|Calc| Custymer Questionnaire | Network Data

An Administrator notices that a Service Status Warning is being received by Avaya Orchestrator indicating that port 27
on VSP 4850-1 is down.
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Based on the contents of the Customer and Network Lifecycle Workbook in the exhibit, which equipment is connected to
this port?

A. VSP4K1, port 27
B. Server/ACR-2, Interface NO
C. Server/ACR-1, Interface NO
D. VSP4K1, Port 26

Correct Answer: A
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